2 % 2Tax? — 12ay* 2 HFEA| JA+E3| g AL

@ (3ax-—3y)? @ 32(3ax - 4ay)?
® 3a(32%ax — 4ay)? @3a(3x + 2y)(3x —2y)

® 3(9ax* - 4ay?)

27ax? — 12ay* = 3a(9x2 = 4y2)
— 3a(3x + 2y) (3x — 2y)




2. x24+4x-21, 3x2-5x-12 9] FE9I A4

O x+4 @ x+7 @ 3x+4

@ 3x-9 @x—3

P +4x-21=(x-3)(x+7)
3x2 —5x—12 = (x-3) (3x + 4)




3. xX*-18x+A=(x+4)(x—B) &, A, B & 77} Hotofa),

> £
> =
[> HED A=-88
> Mg B=22

x2—18x-88 = x>+ (4— B)x— 4B
4-B=-18, .. B=22
S A=-4B = -88




O x% +ax+6, 3x°* +3x-b 9| &

o] k& afolat,

>

> A a-b=-1

Eo] o
o

A7 x+28 W, a-b

~&B

¥ +ax+6=(x+2)(x+p)
=x>+(p+2)x+2p
p=3
24+ p=a .. a=>5
3x2+3x-b = (x+2)(3x+q)
=32+ (g+6)x+2g
6+g=3, g=-3
2q=-b..b=6
Ta-b=5-6=-1




Vi=a-2 4, Vx—4da+12~ Vx+2a-3 & 7Fds] spi? (,

2<a<4)

D)-2a+5 @ 2a-5 ® 5
@ -2a-3 ® -2a+3

Vi=a-29 FHAES AFNIH x=a*-4a+4
Va2 —8a+ 16 — Va2 —2a + 1

= (a-4)?%- y/(a-1)?

=la-4l-la-1

=-a+4-a+1=-2a+5




